B (ED5) EABWRAD (B BT BIERHR) W2 24 7ARAHRE H T

£ i % ' L'y K
R +33 | 144, 946 +14 | 72,694 +19| 72, 252 +65 | 54,279
1010 PRl e il -15 2, 621 -9 1,289 -6| 1,332 -6 1,071
1020 dRIHI R . 163 80 83 60
1060 Rkl -8 3, 436 -4| 1,700 -4| 1,736 -2 1,238
1070 LRI HE -3 3,924 -2 1,966 -1 1,958 -1| 1,538
1080 iR i HR ¥ H 1, 542 -1 779 +1 763 +2 608
1090 HFITHZE BB H +2 1,224 610 +2 614 +1 442
1100 #{rI sk -15 977 -6 491 -9 486 -4 368
1110 HFEHER +1 156 +1 78 78 52
1120 HFRITHBHIAH -5 1,083 -3 505 -2 578 -1 446
1130 7RI B 77 iy 66 28 38 19
1150 dITHIRE -10 3, 162 -6| 1,567 -4| 1,595 -4| 1,235
1160 o] T BT 252 129 123 89
1180 d{RIH=%n -3 1, 362 -1 672 =2 690 -2 517
1200 HFHITCEE—TH +8 853 +4 450 +4 403 +2 267
1210 HRHITLCEE_TH +6 531 +2 265 +4 266 163
1310 d{R[mifET +9 1,528 +3 775 +6 753 +7 600
1320 i) AR AT +3 970 +3 477 493 +3 412
1330 ¢RI T A lT 1, 090 503 587 +2 435
1340 dIidbHET -4 1,077 +1 536 -5 541 451
1350 R =A0T—T H 366 192 174 143
1360 ETH=#BT _T H +7 924 +1 464 +6 460 +3 372
1370 diRf HikkHET +1 2, 068 +1| 1,003 1, 065 802
1380 HRITHE BT +3 1, 382 +3 699 683 538
1390 &[T T H -4 1, 090 -4 567 523 492
1400 HF[THHE—T H 593 290 303 271
1410 HWHR=TH +1 670 +1 322 348 -1 280
1420 &M T H -4 723 -3 353 -1 370 -3 314
1430 BT —T H -3 585 -4 288 +1 297 +1 251
1440 R THARET T H -2 834 -2 417 417 +1 323
1450 WRITHEANT—T H -5 1,015 -6 482 +1 533 +1 485
1460 i BRART —TH +3 471 +1 223 +2 248 +1 188
1470 & HRAR =TH -2 576 -1 273 -1 303 205
1480 HRI T AHETIOT H 454 -2 209 +2 245 +1 169
1490 i F L HT -3 890 -2 439 -1 451 +1 355
1500 Al TG AT -3 703 -1 347 -2 356 271
1510 diifadE—T B +9 1,274 +6 593 +3 681 +5 558
1520 A — T H +7 1, 252 +4 620 +3 632 -3 513
1530 R HRRILUET—T H -4 484 -2 246 -2 238 -1 228
1540 HRHBAILET — T H -1 624 -1 294 330 271
1550 HHAAILET=TH 537 263 274 221
1560 7 {AI T = /i AT +7 1, 050 +6 524 +1 526 +4 420
1570 AR THPEHT =7 731 -4 358 -3 373 -4 298
1580 I K FHT -3 606 -1 282 -2 324 -1 244
1590 dmipLET—T H +1 624 +1 297 327 282
1600 HRITHAHT—T H -12 883 -7 439 -5 444 -3 389
1610 i HiAHT — T H -2 711 -1 381 -1 330 +1 315
1620 i HiAHT =T H -6 849 -4 414 -2 435 -4 371
1630 di HiAHT IO T H +38 2,003 +20 969 +18| 1,034 +18 849
1640 HFHPRET—TH =l 475 -1 232 243 -1 - 192
1650 i RET=TH -1 607 295 -1 312 251
1660 iRl iR AT 509 245 ' 264 214
1670 Al TALET -4 1,139 553 -4 586 =, 456
1680 oyl =ElT +4 1, 488 +1 736 +3 752 +1 601




A (2D 5) EABRAD (FE BT BIEHE) F224F 7AXRBIE - =GNl
£ Br w B L°q R

1690 iR i RHET +6 1, 502 +4 764 +2 738 +3 638
1700 HF T RANT -5 1,535 +3 757 -8 778 -1 626
2110 HIH _E X +6 1, 542 +2 778 +4 764 +2 450
2120 HRITREE -2 771 398 -2 373 +2 256
2130 S /R +7 3,930 +3| 1,931 +4| 1,999 +4| 1,458
2140 HWTHEAR +16 3, 563 +6| 1,850 +10| 1,713 +4| 1,478
2210 d /AR +16 2. 722 +10| 1,405 +6| 1,317 +7 990
2220 i TR +10 3, 564 +3| 1,789 +7| 1,775 +7| 1,190
2230 d TS +1 998 +1 525 473 +2 324
2240 HWTHEAE -1 1,224 588 =1 636 ~1 374
2250 il B +2 971 496 +2 475 +2 296
2310 d{rl R -7 1,212 -4 620 -3 592 375
2320 i THBESS +14 1,574 +7 786 +7 788 +7 543
2330 Wb B H 177 99 78 64
2340 T _ BRI -1 147 82 -1 65 50
2350 d{RITHEIIAR -10 4, 458 -7| 2,301 -3| 2,157 -3| 1,727
2360 iRl TH K ¥E -13 2,226 -5| 1,120 -8| 1,106 -2 757
2370 d{RITHAIAR +4 902 +2 434 +2 468 +1 265
2410 I B3R +13 7, 064 +11| 3,640 +2| 3,424 +1| 2,844
2420 HiETH Tl A -7 2, 153 -2 1,113 -5| 1,040 -2 791
2430 d KR +9 1, 269 +4 649 +5 620 +4 461
2440 HTH S +13 2,291 +5| 1,189 +8| 1,102 +4 872
2450 TR AEA 1, 368 +5 710 -5 658 +5 532
2460 HITHZA +2 4,704 -4| 2,392 +6| 2,312 & 132
3010 gl -11 7, 897 -9| 3,950 -2| 3,947 -3 2,937
3020 i TH HE -2 287 -1 143 -1 144 103
3030 #{RITH _EFnH +3 560 +2 292 +1 268 165
3040 A THEDA -3 925 -2 471 -1 454 +1 306
3050 iRl kA -6 1, 061 532 -6 529 -2 355
3060 i F A H 617 323 294 212
3070 iR KFIH -3 1, 362 -2 668 -1 694 453
3080 iRl ET AN H +1 268 135 +1 133 +1 74
3090 I +11 4, 341 +6 | 2,184 +5| 2,157 +5| 1,535
3100 ] i dREE) | -6 1, 055 -2 508 -4 547 354
3110 HF iz L H +2 6, 195 -1| 3,106 +3| 3,089 -2| 2,087
3120 HFHAE -2 1, 222 625 -2 597 413
3130 #F il H +6 1,531 +3 786 +3 745 +3 496
3140 i ideilH -6 325 -3 156 -3 169 115
3150 HITHiEA =M HH +2 734 -1 383 +3 351 228
3160 i A4 +1 1,432 +2 732 -1 700 420
3170 i) T B -7 6, 486 -2| 3,303 -5| 3,183 +1| 2,267
3180 M THIL M -2 97 -1 48 -1 49 -1 27
3200 v T R RS 263 133 130 84
3210 [T PE S 204 99 105 60
3220 Rl TR B PG +2 839 410 +2 429 #1 302
3230 i AL g 171 82 89 44
X -19 | 58,244 -12 | 28,730 -7| 29,514 +15| 23,413
MFHEX +72 | 48,830 +37 | 24, 895 +35| 23,935 +46 | 17,829
=X -20 | 37,872 -11| 19, 069 -9| 18,803 +4| 13,037
) +33 | 144, 946 +14 | 72,694 +19| 72, 252 +65 | 54, 279




